
 

Nachbarzahlen 10 
 
1. Ergänze die Nachbarzahlen. 
 
 

Vorgängerzehner       

Zahl 4 509 3 028 9 481 5 493 5 454 3 843 

Nachfolgerzehner       
 
 

Vorgängerhunderter       

Zahl 4 345 8 393 3 287 8 853 9 091 8 534 

Nachfolgerhunderter       
 
 

Vorgängertausender       

Zahl 3 913 5 839 7 153 9 419 4 553 1 988 

Nachfolgertausender       
 
 
2. Rechne mit verwandten Aufgaben. 
 
 

40 +      30 = ________  34 +      23 = ________ 

400 +    300 = ________  340 +    230 = ________ 

4 000 + 3 000 = ________  3 400 + 2 300 = ________ 

 
 
 

54 +      33 = ________  12 +      46 = ________ 

540 +    330 = ________  120 +    460 = ________ 

5 400 + 3 300 = ________  1 200 + 4 600 = ________ 

 
 


